EARAROBEEIERT — 2 N— IBISH —F 2012568168 (£) SE4EWIH

m [(F—T=Z &8 C3Z 53R \ (%f&] & \ (msml  — | & (B) 12500 FR
[AE£] 1% :120,000  ~ 2#&:24,000 ™  33%&:12,000 M  4%&:6,000H ~ 5%&%:0MH
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1lglg|Oo—pre—no- H o4 sﬁlﬁ?g?iﬁﬂ 1:(2_1).2 1-1-1-1 1380 — | 2 | 462 %‘xig; (@)
R:xFvr BiFq—TNZ— AN i Preey
ol7| 7|z 5—%27 Ho4 | 1%a 7-7-4-2 [37.8| — | 1 g %%ﬁﬁ%;
L:TUHARXIL R B:EYaX T HiE
. . —4-5- — st =
3155 H—Frg4—y 4 6 %J.IA%DEA 1.(2333.4 5-4-5-5 | 38.5 5 3334) igmﬁ (#&1)
RX-NFIRYLTF— BV-TARTIA—> ESHTT A
= s, 3 5 4 5 | FHH 1:23.5 2-3-2-3 | 40.1| — 3 497 | BEWEE (3B
4 N 4 TAT14>I57I)L 56.0 (1/2) 1) iEfth
L:vUILN—=F BANLVINTI INWT7—L
_ = . —D_2_, —_ E ?J\t\ =
50111 3F7T>~5— #o4 | BASE (12.214/.20) 2-2-3-4 | 40.5 4 g; %;l;?;lE (B
L:Yrh—> BAHIITTNIL BH T
6N 3| X AT v RN > 6 éﬁsﬁ%@ﬁ 1:(255).0 8-8-8-7 |39.1| — 8 436 gggﬁ (&)
RGP TNRT Yy b BILH TS ) EEx sy K
d > DI E AR P o4 g’ﬁmﬂ 1(:12/52.; 6-5-6-6 | 40.0| — 7 | 390 ig%ﬁ (#B)
QAL BTN NS SN~ b SRR it
= 3 EESES . 57— _ CNE =
N - BRELPEC ST, i 4 151?0 : 1.(296).9 4-5-7-8 | 41.7 6 (fg) iigi;ﬁ;i%% (#&1L)
L:ELYIT RV B XY —TFENL fEx 8K

® 1 —F—@EBIBfL

13—F— (8,(1,4),6,52,7,3

23—7F— |8,1,4,5,(2,6),7,3

33—7— |8,4,1,7,5,2,6,3

42—5— |8,7,4,1,5,2,3,6

[ F/N=5

R 8 1,030 | | B = 7-8 390A | | 3E#E 5-7-8 830M

7 B 8 150M | | B & 8-7 1,220/ | | 3EE 8-7-5 5,270M
7 100/
5 170M

ABICOVWTRDTEEERROODE. TR LIV,




